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MATH 2260 Calculus II Name: 5
Eric Perkerson Date: June 23, 2015

Practice Quiz No. 2

Show all of your work, label your answers clearly, and do not use a calculator.

“—UH.OU_GE H Find the area of the surface generated by revolving the curve @_ = 2z — 22,
fori<az A 2 around the x-axis.
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for 1 <y < 3 around the y-azxis.
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Problem 3 An electric elevator with a motor at the top has a cable weighing 4.5 b/ft.
When the car is at the first floor, 189 ft of cable are paid out, and effectively 0 ft are out
when the car is at the top floor. How much work does the motor do just lifting the cable
when_it takes the car from the first floor to the top?

1% 164 [ 2~ 199
W =] Fypdy = [lren-y)(450dy = 4] 18ty - £ ]
1 -ys( - ﬁ\m

=ys( &

— 2L

Problem 4 A spring has a natural length of 9 in. A 500 Ib force stretches the spring to
11 inches. How much work is done in stretching the spring from 9 in to 15 in?
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Problem 5 A conical tank with the pointed end facing down has a radius of 5 ft at the
top and a height of 10 ft. How much work would it take to pump oil weighing 57 lb/ ft3 to
the top of the tank if the tank is completely full?
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Problem 6 Solve the differential equation given by S = €5~ with y(0) = 4.
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Problem 7 Suppose the amount of oil pumped from an oil well decreases at the continuous
rate of 10% per year. When will the well’s output fall to one-fifth of its ﬁﬁmmmi value?
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Problem 9 Evaluate the integral
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Problem 10 Ewvaluate the integral
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Problem 11 FEuvaluate the integral

\ cos(log(z))dx
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